Easter Multiplication

Solve the following word problems.

If each Easter egg costs 7 dollars and you buy 3
Easter eggs, how many dollars do you spend in
total?

Peter has 5 Easter baskets. If he puts 6 eggs in
each basket, how many eggs does he have in
total?

Emma bought 4 Easter bunnies. Each bunny costs
9 dollars. How many dollars did she spend in total?

Each Easter basket can hold 8 eggs. If Lily has 2
baskets, how many eggs can she carry at once?

Liam is making treat bags for his friends. He puts 9
candies in each bag and makes 5 bags. How many
candies did he use in total?

The Easter Bunny has 7 rows of carrots, and each
row has 4 carrots. How many carrots does the
Easter Bunny have in total?

There are 5 teams for an Easter egg hunt, and
each team finds 3 eggs. How many eggs are found
altogether?

Each Easter basket can hold 9 eggs. If Mia has 2
baskets, how many eggs can she carry at once?

Olivia bought 8 chocolate bunnies, and each bunny

has 6 pieces. How many chocolate pieces does she
have in total?
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